### <u>IV</u> BID FORM (Pricing)

The undersigned bidder agrees to all terms and conditions of the preceding specifications for 2021-2022 Water Meter Replacement Program and will furnish all the insurance documents and security deposits as stipulated. The unit prices listed below should be valid through December 31, 2022. Bid bond amount should be 10% of the sum of Bidder's Estimate amount listed below.

	VILLAGE OF OAK 2021-2022 WATER METER REPLA PROJECT # 21-1:	CEMENT PR	OGRAM		
ITEM#	ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	COST
1	2" WATER METER EXCHANGE	92	EACH	\$475.00	\$ 43,700.00
2	1-1/2" WATER METER EXCHANGE	200	EACH	\$465.00	\$ 93,000.00
3	1" WATER METER EXCHANGE	528	EACH	\$130.00	\$ 68,640.00
4	3/4" WATER METER EXCHANGE	299	EACH	\$130.00	\$ 38,870.00
5	5/8" WATER METER EXCHANGE	1965	EACH	\$130.00	\$ 255,450.00
6	2" WATER METER REGISTER UPGRADE	138	EACH	\$110.00	\$ 15,180.00
7	1-1/2" WATER METER REGISTER UPGRADE	213	EACH	\$110.00	\$ 23,430.00
8	1" WATER METER REGISTER UPGRADE	671	EACH	\$110.00	\$ 73,810.00
9	3/4" WATER METER REGISTER UPGRADE	446	EACH	\$110.00	\$ 49,060.00
10	5/8" WATER METER REGISTER UPGRADE	4097	EACH	\$109.00	\$ 446,573.00
11	INSTALL NEW GROUND WIRE AROUND METER	150	EACH	\$ 24.00	\$ 3,600.00
12	LABOR RATE FOR ANY ADDITIONAL PLUMBING	200	MAN-HR	\$135.00	\$ 27,000.00
13	RESET 3/4" WATER METER	10	EACH	\$250.00	\$ 2,500.00
14	RESET 1" WATER METER	5	EACH	\$310.00	\$ 1,550.00
15	RESET 1-1/2" WATER METER	4	EACH	\$620.00	\$ 2,480.00
16	RESET 2" WATER METER	2	EACH	\$700.00	\$ 1,400.00
17	INSTALL REMOTE R900 WALL METER INTERFACE UNIT	10	EACH	\$375.00	\$ 3,750.00
		-		TOTAL:	\$ 1,149,993.00

Moe Giglio, President

(Print Name of Individual Signing)

Illinois Plumbing License #: \_\_055-008908

25

being first duly sworn on oath deposes and says that the bidder on the above Bid is organized as indicated below and that all statements herein made on behalf of such bidder and that their deponent is authorized to make them, and also deposes and says that deponent has examined and carefully prepared their Bid from the Agreement Specifications and has checked the same in detail before submitting this Bid; that the statements contained herein are true and correct.

Signature of bidder authorizes the Village of Oak Park to verify references of business and credit at its option.

Signature of bidder shall also be acknowledged before a Notary Public or other person authorized by law to execute such acknowledgments.

Dated: October / 14 /2021	Calumet City Plumbing & Heating Co., Inc.
	Organization Name (Seal - If Corporation)
Ву:	
me los	281 River Oaks Drive, Calumet City, IL 60409
Authorized Signature	Address
(708) 868-0074	moe@ccp1967.com
Telephone	E-mail
Subscribed and sworn to before me this	14th day of October 2021.
Griselda Delgado in the	State of My Commission
Notary Public	Da Olyala
Expires on 03 / 06 / 2022	
	OFFICIAL SEAL GRISELDA DELGADO NOTARY PUBLIC - STATE OF ILLINOIS MY COMMISSION EXPIRES:03/06/22

### **BID FORM CONTINUED**

Complete Applicable Paragraph Below Corporation The bidder is a corporation, which operates under the legal name of Calumet City Plumbing & Heating Co., Inc. and is organized and existing under the laws of the State of Illinois . The full names of its Officers are: Moe Giglio President Secretary Moe Giglio Treasurer\_\_\_ Moe Giglio The corporation does have a corporate seal. (In the event that this Bid is executed by a person other than the President, attach hereto a certified copy of that section of Corporate By-Laws or other authorization by the Corporation that permits the person to execute the offer for the corporation.) (b) Partnership N/A Names, Signatures, and Addresses of all Partners The partnership does business under the legal name of \_\_\_\_\_\_, which name is registered with the office of \_\_\_\_\_\_in the county of\_\_\_\_\_ (c) Sole Proprietor N/A The bidder is a Sole Proprietor whose full name is\_\_\_\_\_\_. If the bidder is operating under a trade name, said trade name is which name is registered with the office of \_\_\_\_\_ in the county of \_\_\_\_\_\_\_.

In compliance with the above, the undersigned offers and agrees, if his/her Bid is accepted within ninety (90) calendar days from date of opening, to furnish any or all of the items upon which prices are quoted, at the price set opposite each item, delivered at the designated point within the time specified above.

Signed:\_\_\_\_

### **MUNICIPAL QUALIFICATION REFERENCE SHEET**

Bidders shall furnish a minimum of four (4) references from projects similar in scope within the last two (2) years.

MUNICIPALITY	Village of Lansing
ADDRESS	3300 171st Street
	Lansing, IL 60438
CONTACT	Gary Richardson, Director of Public Works
PHONE	(708) 895-7190
WORK	Installation of residential and commercial water meters.
PERFORMED	
MUNICIPALITY	Village of Burnham
ADDRESS	14450 S. Manistee Avenue
	Burnham, IL
CONTACT	Robert Polk, Village President
PHONE	(708) 862-9150
WORK	Installation of residential and commercial water meters.
PERFORMED	
MUNICIPALITY	City of Naperville
ADDRESS	1200 W. Ogden Avenue
	Naperville, IL 60563
CONTACT	Angie Keller, Utility Specialist
PHONE	(630) 420-6134
WORK	
PERFORMED	Installation of residential and commercial water meters.
	Installation of residential and commercial water meters.
	Installation of residential and commercial water meters.  City of Joliet
PERFORMED	
PERFORMED  MUNICIPALITY	City of Joliet
PERFORMED  MUNICIPALITY	City of Joliet 150 W. Jefferson street
PERFORMED  MUNICIPALITY  ADDRESS	City of Joliet  150 W. Jefferson street  Joliet, IL 60432
PERFORMED  MUNICIPALITY  ADDRESS  CONTACT	City of Joliet  150 W. Jefferson street  Joliet, IL 60432  Jonathan Hall, P.E.

### <u>V</u> <u>BIDDER CERTIFICATION</u>

Calumet City Plumbing & Heating Co., Inc., as pa	art of its Bid on an agreement for 2021-2022 Water Meter
Replacement Program for the Village	e of Oak Park, hereby certifies that said bidder selected is not
	ementioned agreement as a result of a violation to either
	BE of Chapter 38 of the Illinois Revised Statutes or Section 2-
6-12 of the Oak Park Village Code r	elating to "Proposing Requirement.
noe hope	
(Authorized Agent of bidder selected	d) Moe Giglio, President
Subscribed and sworn to before me	e this <u>14th</u> day of <u>October</u> , 2021.
Lendle Olgo	Q
Notary Public's Signature	- Notary Public Seal -
OFFICIAL SEAL GRISELDA DELGADO NOTARY PUBLIC - STATE OF ILLINOIS MY COMMISSION EXPIRES:03/06/22	

### VI TAX COMPLIANCE AFFIDAVIT

Moe Giç	glio	being first duly sworn, deposes and
says:		, , ,
that he/she is	President	of
	(partner, officer	, owner, etc.)
Calumet City PI	umbing & Heating Co., Inc.	
	(bidder selected	)
entering into an ag tax administered b with the procedure tax. The individual regarding delinque	reement with the Village of Oa y the Department of Revenue es established by the appropria or entity making the Bid or pro ency in taxes is a Class A Misder	or proposal certifies that he/she is not barred from ak Park because of any delinquency in the payment of any unless the individual or entity is contesting, in accordance ate revenue act, liability for the tax or the amount of the oposal understands that making a false statement meanor and, in addition, voids the agreement and allows are individual or entity under the agreement in civil action.
	By: Moe Giglio Its: President  (name of bidder (name of partne	if the bidder is an individual) r if the bidder is a corporation)
The above stateme	ent must be subscribed and sw	orn to before a notary public.
Subscribed and sw Notary Public's Sign	orn to before me this 14th	OFFICIAL SEAL Notary RUBLIC - STATE OF ILLINOIS NOTARY PUBLIC - STATE OF ILLINOIS NOTARY PUBLIC - STATE OF ILLINOIS

### VII ORGANIZATION OF BIDDING FIRM

### Please fill out the applicable section:

A. Corpora		
		net City Plumbing & Heating Co., Inc. and is organized
		tate of <u>Illinois</u> . The full names of its
Officers are		
President_	Moe Giglio	
Secretary_	Moe Giglio	
Treasurer_	Moe Giglio	
Registered	Agent Name and Address: Ronald N Prin	nack, 30 S. Wacker Dr., Suite 2600, Chicago, IL 60606
President,		hat this Bid is executed by a person other than the on of Corporate By-Laws or other authorization by the offer for the corporation.)
B. Sole Pro	pprietor: N/A	
	ictor is a Sole Proprietor. If the Contractor	
		, which is registered with the
		ompliance with the Assumed Business Name Act,
805 ILCS 40	05/0.01, et. seq.	
The Contra	ship: N/A actor is a Partnership which operates unde ing are the names, addresses and signatur	
	Signature	Signature
(Attach add	ditional sheets if necessary.) If so, check h	ere
the Cook C		ame, the assumed name must be registered with ise in compliance with the Assumed Business Name
D. Affiliate	s: The name and address of any affiliat	ed entity of the business, including a description of
the affiliati	Giglio, Inc., 7925 Lake Shore Drive, G	ary, IN 46403. Non-operating company. Common Ownership.
Sig	gnature of Owner	

### SECTION VIII BID BOND

WE Calumet City Plumbing & Heating Co., Inc.

as PRINCIPAL, and Travelers Casualty and Sur	ety Company of America
as SURETY, are held and firmly bound unto the as "VOP") in the penal sum of Ten Percent (109 invitation for bids. We bind ourselves, our heir assigns, jointly to pay to the VOP this sum under	s, executors, administrators, successors, and
	GOBLIGATION IS SUCH that, the said PRINCIPAL is bugh its awarding authority for the completion of
into a formal agreement, furnish surety guaran	AL shall within fifteen (15) days after award enter steeing the faithful performance of the work, and erage, all as provided in Specifications then this
compliance with any requirements set forth in	ely be entitled to recover the full penal sum set
IN TESTIMONY WHEREOF, the said PRINCIPAL	and the said SURETY have caused this instrument
to be signed by their respective officers this	14th day of
October A.D. 2021 .	-
PRINCIPAL	
Calumet City Plumbing & Heating Co., Inc.	
(Company Name)	(Company Name)
1	
By: he happy	Ву:
(Signature & Title)	(Signature & Title)
Mce Giglio, President	

(If PRINCIPAL is a joint venture of two or more Contractors, the company names, and authorized signatures of each Contractor must be affixed)

### **BID BOND CONTINUED**

<b>,</b>
OFFICIAL SEAL GRISELDA DELGADO NOTARY PUBLIC - STATE OF ILLINOIS MY COMMISSION EXPIRES:03/06/22
HARTFORD, CONN.
FICIAL SEAL* VID J. ROTH iblic, State of Iffinols Ion Expires 12/29/2021



Travelers Casualty and Surety Company of America Travelers Casualty and Surety Company St. Paul Fire and Marine Insurance Company Farmington Casualty Company

### **POWER OF ATTORNEY**

KNOW ALL MEN BY THESE PRESENTS: That Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, St. Paul Fire and Marine Insurance Company, and Farmington Casualty Company are corporations duly organized under the laws of the State of Connecticut (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint Kristen Schmidt of Orland Park . IL , their true and lawful Attorney(s)-in-Fact to sign, execute, seal and acknowledge the following bond:

Surety Bond No.: OR

Bid Bond

Principal: Calumet City Plumbing & Heating Co., Inc.

Obligee:

Village of Oak Park

Project Description: IL Village of Oak Park Bid Bond - Ten Percent (Bid Bond)

IN WITNESS WHEREOF, the Companies have caused this instrument to be signed, and their corporate seals to be hereto affixed, this 21st day of April, 2021.









State of Connecticut

City of Hartford ss.

On this the 21st day of April, 2021, before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of each of the Companies, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of said Companies by himself as a duly authorized officer.

IN WITNESS WHEREOF, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2026



Anna P. Nowik, Notary Public

. Raney, Senior Vice President

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of each of the Companies, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

**FURTHER RESOLVED**, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Secretary, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned, Assistant Secretary of each of the Companies, do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which remains in full force and effect.

Dated this 14th day of October , 2021









Kevin E. Hughes, Assistant Secretary

# SECTION IX COMPLIANCE AFFIDAVIT

1, _	Moe Giglio	(Print N	ame) being first duly sworn on o	oath depose and state:
1.	I am the (title) _	President		g Firm and am authorized to
	make the staten	nents contained in this af	fidavit on behalf of the firm;	
2.		l and carefully prepared to Bid in detail before subn	his Bid based on the request and	d have verified the facts
3.			ted above on the form entitled	"Organization of Proposing
4.	I authorize the V	/illage of Oak Park to veri	fy the Firm's business reference	s and credit at its option:
5.	Neither the Prop violation of 720	oosing Firm nor its affiliat	es1 are barred from proposing of ating to Bid rigging and Bid rota	on this project as a result of a
6.		-	atus indicated below on the form	n entitled "EEO Report."
7.			es is barred from agreementing	•
	because of any o	delinquency in the payme	ent of any debt or tax owed to the	ne Village except for those taxes
			n accordance with the procedure	
			tax or the amount of the tax. It	
			s is a Class A Misdemeanor and,	
	the agreement i		Park to recover all amounts paid	to the Proposing Firm under
8.			13 3 4 of the Oak Bank Village	Sada valatina ta Fair
0.	Employment Pra "Equal Opportur Code Annotated	actices and understand th nity Employer" as defined I and Federal Executive O	13-3-4 of the Oak Park Village One contents thereof; and state the low Section 2000(E) of Chapter 2 rders #11246 and #11375 which EO Report or Submit an EEO-1.	nat the Proposing Firm is an 21, Title 42 of the United States
9.		72	nce with the Drug Free Workplace	ce Act. 41 U.S.C.A. 702
•	)	, ,	The title and brag tree trentplat	75.164, 12 0.0.6.74, 752
Sign	nature: he	· hyls		
Nar	me and address of Bu	usiness: Calumet City Plu	mbing & Heating Co., Inc., 281 I	River Oaks Drive, Calumet City, IL 60409
Tel	ephone <u>(708)</u>	868-0074	E-Mail moe@ccp196	7.com
Sub	escribed to and sworr	n before me this 14th	day of _October	, 2019.
Not	tary Public	regen -	OFFICIAL SEAL GRISELDA DELGADO NOTARY PUBLIC - STATE OF ILL MY COLAMISSION EXPIRES 173	LINOIS

<sup>1</sup> Affiliates means: (i) any subsidiary or parent of the agreementing business entity, (ii) any member of the same unitary business group; (iii) any person with any ownership interest or distributive share of the agreementing business entity in excess of 7.5%; (iv) any entity owned or controlled by an executive employee, his or her spouse or minor children of the agreementing business entity.

## SECTION X M/W/DBE STATUS AND EEO REPORT

Failure to respond truthfully to any questions on this form, failure to complete the form or failure to cooperate fully with further inquiry by the Village of Oak Park will result in disqualification of this Bid. For assistance in completing this form, contact the Department of Public Works at 708-358-5700.

1.	Contra	ctor Name: Calumet City Plumbing & Heating Co., Inc.
2.	Check	here if your firm is:
		Minority Business Enterprise (MBE) (A firm that is at least 51% owned, managed and controlled by a Minority.)
		Women's Business Enterprise (WBE) (A firm that is at least 51% owned, managed and controlled by a Woman.)
		Owned by a person with a disability (DBE) (A firm that is at least 51% owned by a person with a disability)
		None of the above
	[Subm	it copies of any W/W/DBE certifications]
3.	What	is the size of the firm's current stable work force?
	67	_ Number of full-time employees
	0	_ Number of part-time employees
4.	Forms agreer	r information will be <u>requested of all subcontractors working on this agreement</u> . will be furnished to the lowest responsible Contractor with the notice of ment award, and these forms must be completed and submitted to the Village the execution of the agreement by the Village.
Signat	ure:	Moe Giglio
Date:	10/14/	2021

# EEO REPORT

Please fill out this form completely. Failure to respond truthfully to any questions on this form, or failure to cooperate fully with further inquiry by the Village of Oak Park will result in disqualification of this Bid. An incomplete form will disqualify your Bid. For assistance in completing this form, contact the Purchasing Department at 708-358-5473.

# An EEO-1 Report may be submitted in lieu of this report

Contractor Name Calumet City Plumbing & Heating Co., Inc.

Total Employees

29

401	Total	Total	Total			Males				Females		Total
Categories	Employees	Males	Females	Black	Hispanic	American Indian & Alaskan Native	Asian & Pacific Islander	Black	Hispanic	American Indian & Alaskan Native	Asian & Pacific islander	Minorities
Officials & Managers	13	12	1	-	0	0	0	0	0	0	0	1
Professionals	0	0	0	0	0	0	0	0	0	0	0	0
Technicians	0	0	0	0	0	0	0	0	0	0	0	0
Sales Workers	0	0	0	0	0	0	0	0	0	0	0	0
Office & Clerical	5	2	3	0	1	0	0	0	1	0	0	2
Semi-Skilled	0	0	0	0	0	0	0	0	0	0	0	0
Laborers	32	32	0	2	5	0	0	0	0	0	0	7
Service Workers	0	0	0	0	0	0	0	0	0	0	0	0
TOTAL	50	46	4	3	9	0	0	0	1	0	0	10
Management Trainees	0	0	0	0	0	0	0	0	0	0	0	0
Apprentices	17	17	0	2	2	0	0	0	0	0	0	4
i i				4 7 6								

This completed and notarized report must accompany your Bid. It should be attached to your Affidavit of Compliance. Failure to include it with your Bid will be disqualify you from consideration.

Moe Giglio (Name of Person Making Affidavit)	, being first duly swom, deposes and says that he/she is the President (Title or Officer)
Calumet City Plumbing & ar Heating Co., Inc.	the above EEO Report information is true and accurate and is submitted with the
e relied upon. Subscribed and s	be relied upon. Subscribed and swam to before me this 14th day of October .2021

10/14/2021

(Date)

MY COMMISSION EXPIRES:03/06/22